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Here 18 a reminder of the probiem

Customers artive with Expo(5) minutes f0 a Bank obers' at 800 am ond closes It doors at 300 pm
(does not allow onyone in). Howaver, the customars who ate aiready in the gank will continue to b8

‘served and leave through another daor. The Bank will not shut down untif ol customers are fllshed out

(given it is 3:00 pm of alter), Thers is just one process in this system that neads one of the 2 workers

available 1o work on it Incoming customers have the chance _6? 5% 1o nat going throtigh the process
since they torgot their 1D, The procass tokes T RIA(2510) Minutes. 1
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~served and leave through anothor door, Tho flank will

[ 1o ot 02263

For the following problom, @ suggostad madol Is shown In the scrasnatiol bolow, Anawar the following
questions about this model and solvod tho system, Thers are airarm In this mode),

Customers arrive with Expo(B) minutos to o Dank opons ot 0,00 am and oloses Its doors ot 100 pm

(does not allow anyona Inj. Howover, the cusiomors wha aro alraady In the Dank will continue to be
NOLshut down until ol austomers are lushed ot

(given it is 3:00 PM or aftor). There la junt one Procons in thia ayntem that nosds one of th 2 worken

available to work on It. Incoming customers have the ahanee of 6% to nat golng through the process
since they forgot thelr LD, The process takes TRIA(2,6,10) minutes,
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ding a delay for two minutes instead of a route that takes two minu

merical output viewpoints

not allow animation of part transfers

3 This would work from modeling/nu

This would

<N All of the above

O None of the above

Clear my choice



i_the simulation for 3 timas with 'each run fora length of 5
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~ QO Itdepends on the (ast enters the queue
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This part of the model might have an error, what is it (if there is one)?

? X

P Type:
Do you have the insurance D? v”z-vnybychme. v]
0 Percent True (0-100):

C—

O Has no error
\ The percentage should be 93%
O Dispose modules should be swapped

O Decide rule should 2-way by condition
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the Create Module shown below for the clinic system, how many errors are there (if ony)? (Hint: deal with
ery entry in the module separately)
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v || Pateent v
3 3 Units:
T R | N
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Patients arrive at a clinic according to a Poisson process with an average of FOUR per HOUR. The clinic opens at
8:00 am and closes its doors at 3:00 pm (does not allow anyone in). However, the patients who are already in
the clinic will continue to be served. The clinic will not shut down until all patients are flushed out (given it is 3:00
pm or after). There are two processes in this system, the check-in that requires the receptionist and takes
TRIA(0.5,2,3) minutes, and the preparation that needs the nurse and takes TRIA(7,10,20) minutes. Incoming
patients have the chance of 7% not going through the whole process since they forgot their insurance I.D.

The following is a draft of the model, which has something wrong with the modules.

]

Do you have '
the insurance »” 0
ID?

] Fase

Select one:
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